
第4章 1.「累乗根」「指数の拡張」 第4回

解答

1. (1) 7 (2) 2 (3) 2
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解説

1. (1) 与式 = 7 (2) 与式 = 8
√
23 × 25 =

8
√
28 = ( 8

√
2)8 = 2

(3) 与式 =
6
√
22

6
√
24 = 6

√
22 × 24 =

6
√
26 = ( 6

√
2)6 = 2

2. (1) 与式 = 1 (2) 与式 = 1
33

= 1
27

(3) 与式 = 24 = 16 (4) 与式 = 1(
32
)3 = 1

36
= 1

729

(5) 与式 = 74+(−6) = 7−2 = 1
49

(6) 与式 = 53−5 = 5−2 = 1
25

(7) 与式 = 114 × (11−1)3 = 114 × 11−3 = 114−3 = 11

(8) 与式 = (2× 3)4 × 2−2 = 24 × 34 × 2−2 = 24−2 × 34 = 4× 81 = 324

(9) 与式 = (22 × 32)2 × 3−3 × (2−1)6 = 24 × 34 × 3−3 × 2−6 = 24−6 × 34−3 = 2−2 × 3 = 3
4

3. (1) 与式 = 2
1
6 (2) 与式 =

(
6

2
4

) 1
3
= 6

1
2
× 1

3 = 6
1
6 (3) 与式 = 1

5
2
3
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2
3

4. (1) 与式 =
6
√
a5 (2) 与式 = a

6
10 = a

3
5 =

5
√
a3

(3) 与式 = a
3
8
+ 1

4 = a
5
8 =

8
√
a5 (4) 与式 = a

1
3
− 5

6 = a−
1
2 = 1√

a

(5) 与式 = a
2
3
+ 2

5 = a
16
15 =

15
√
a16 (6) 与式 = a

3
4
− 2

3 = a
1
12 = 12

√
a




